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Q 1: Find the remainder when the cube of the fifth prime number is divided by 17. 

	a)
4 

b)
5 

c)
6 

d)
7 



	Q 2: The LCM of two numbers is 72 times their HCF. The sum of the LCM and the HCF is 584. If one of the numbers is 72, then what is the other number ? 

	a)
78 

b)
64 

c)
48 

d)
88 



	Q 3: Find the value of a , if 72 6 0 = (7 [image: image2.bmp] a)6 5 

	a)
343 

b)
2,401

c)
49 

d)
67 



	Q 4: The age of Arvind's father is four times his present age. If 5 years ago, his father was 7 times as old as Arvind, what is the present age of Arvind's father ? 

	a)
35 years 

b)
40 years 

c)
75 years 

d)
25 years



	Q 5: a saves 20% more than his expenses and B spends 20% more than his savings. If B saves 20% less than A's expenditure, then find the ratio of their incomes. 

	a)
2 : 3

b)
4 : 5

c)
5 : 6

d)
5 : 4



	Q 6: 25% of 40% of 80 is what percentage of 35% of 50% of 60 ? 

	a)
[image: image3.png]1,
733%




b)
[image: image4.png]1,
1313




c)
[image: image5.png]4,
78 %




d)
[image: image6.png]4,
76






	Q 7: Arun sells 2,000 mangoes in a week. He recovers his total cost by selling first 1,200 mangoes at a certain profit. He sells the next 300 mangoes for a loss of 20% and he sells the last 500 mangoes for a loss of 40%. What is his overall percentage of profit ?

	a)
45% 

b)
27% 

c)
18% 

d)
35% 



	Q 8: Rs. 2,7000 is distributed among 2 boys, 3 girls and 5 men so that the ratio of the amounts per head received by the boys, girls and men is 10 : 5 : 2 respectively. Find the share of each boy. 

	a)
Rs. 200 

b)
Rs. 400 

c)
Rs. 800 

d)
Rs. 600 



	Q 9: The compound ratio of [image: image7.png]


and the inverse of [image: image8.png]


is 15 : x . then x is 

	a)
20 

b)
60 

c)
40 

d)
None of these 



	Q 10: 1,8000 is divided into three parts such that two-fifth of the first part and one-third of the second part are equal. Also, one-third of the second part and three-seventh of the third part are in the ratio of 2 : 3. Find the third part. 

	a)
600 

b)
700 

c)
800

d)
500 



	Q 11: Anand and Vishnu start a business with unequal sums of money. Four months later Aniket also joins them with a certain capital. At the end of the year each of them receives an interest 10% per annum on the capitals they invested and the remaining profit is divided equally. Xavier thus receives Rs. 400, Vishnu Rs. 500 and Aniket Rs. 450. Had all the profits been shared in the proportion of their capitals, then Xavier would have got Rs. 100 less, while Aniket would have got exactly the same amount that he actually got. Find the respective capitals of Xavier, Vishnu and Aniket (in rupees).

	a)
2,000, 4,500 and 3,000 

b)
3,000, 5,000 and 4,000 

c)
1,000, 2,000 and 1,500 

d)
1,250, 2,500 and 3,000 



	Q 12: The average weight of 10 girls is 45 kg. When two more girls join, the average increases by 2 kg. Find the average weight of the two girls. 

	a)
57 kg

b)
54 kg

c)
48 kg

d)
None of these 



	Q 13: The population of a city increases by 20% during a certain year only by 25% and 10% in the next two years respectively. Find the average annual rate of increase during the three years. 

	a)
18.54

b)
20.5%

c)
21.66

d)
None of these 



	Q 14: A sum of Rs. 23,500 is divided into three parts such that the simple interest on tem for three, four and five years may be equal. Find the largest part, if the rate of simple interest is 10% p.a. in all the cases. 

	a)
Rs. 6,000 

b)
Rs. 7,500 

c)
Rs. 15,000

d)
Rs. 10,000 



	Q 15: Jivan and Madhav start from a place P at the same time to reach another place Q. Jivan travels at a constant speed of 21 kmph, while Madhav starts with a speed of 12 kmph and increases his speed by 2 kmph at the end of every hour. If both of them arrive at Q at the same time, what is the distance between P and Q and how much time did take for each of them to reach Q ? 

	a)
200 km, 11 hours 

b)
11 km, 5 hours 

c)
210 km, 10 hours 

d)
None of these 



	Q 16: If 19 times the 19th term of an arithmetic series equals 24 times the 24th term of the same series, then find the sum to 85 terms of the series. 

	a)
24 [image: image9.png]


24th term 

b)
19 [image: image10.png]


19th term 

c)
0 

d)
cannot be determined 



	Q 17: Two circles of radii 17 cm and 25 cm with centres at A and B respectively intersect at two points C and D. If the distance AB is 28 cm, find the length of the common chord CD to both the circles. 

	a)
15 cm

b)
25 cm

c)
20 cm

d)
30 cm



	Q 18: The perimeter of two similar triangles are in the ratio 5 : 6. If one side of the first triangle measures 2 cm less than the corresponding side of the other triangle, find its length. 

	a)
10 cm

b)
12 cm

c)
20 cm

d)
15 cm



	Q 19: An equilateral triangular trench of side 18 ft. is dug to a depth of 33 ft. The earth dug out is used to prepare spherical balls each of diameter [image: image11.png]


ft. How many such balls can be prepared with the earth dug out ? 

	a)
63 

b)
81 

c)
21

d)
27 



	Q 20: A largest possible cube is fitted in a solid sphere. Another sphere exactly fitting in the cube is inserted into it. What is the ratio of the volumes of the two sphere ? 

	a)
[image: image12.png]



b)
[image: image13.png]



c)
[image: image14.png]



d)
[image: image15.png]





	Q 21: In the figure shown below, SQ = PQ/4, PT = 2PR/7. If the area of [image: image16.png]APQR



is 84 cm2 , then find the area of[image: image17.png]APST



. 
[image: image18.png]




	a)
24 cm2 

b)
6 cm2 

c)
18 cm2 

d)
32 cm2 



	Q 22: A log of wood in the shape of cylinder of base radius 2 ft and height 7 ft is cut all around its curved surface to form a biggest cuboid. What is the volume (in cu. ft) of the log removed ? 

	a)
32 

b)
28 

c)
64 

d)
36 



	Q 23: A prism has a square base of side 15 cm. Find the total surface area of the prism of its height is 24 cm. (in sq. cm). 

	a)
1620

b)
2700

c)
1026

d)
1170



	Q 24: Find the total surface area of an isosceles triangular prism whose equal sides of the base are 15 cm and unequal side is 18 cm, and the height of the prism is 12 cm (in sq. cm). 

	a)
846 

b)
828 

c)
882 

d)
792 



	Q 25: A basket of fruits contains two dozens of mangoes and a dozen of apples of which one-third of each variety are spoiled. If two fruits are picked out one after the other, without replacement, find the probability of picking out two unspoiled fruits. 

	a)
[image: image19.png]2




b)
[image: image20.png]2




c)
[image: image21.png]22




d)
None of these 



	Q 26: To do a work independently, A takes twelve days more than B. When they work together, the time taken is four days less than the time taken by B alone. In how many days, can A alone complete the work ? 

	a)
16 

b)
12 

c)
8 

d)
24 



	Q 27: A and B together start to work on a project. After sometime they realize that they will need one fourth more time than the scheduled time to finish the work. Hence they immediately employ C, who can work as fast as A and B together and thus manage to finish the work on time. 
If A and B together had finished the work, and had miscalculated their capacities and A finally received half of what he had expected at the start of the work while B got a fourth more than what he had expected, then by what percent will B's share increase/decrease over the amount he expected at the start of the work ? 

	a)
[image: image22.png]1,
R




b)
40% 

c)
36% 

d)
None of these 



	Q 28: A can do a piece of work in 10 days, B can do it in 20 days and C can do it in 30 days. If A starts the work alone and is helped on every 3rd day by both B and C, then in how many days is the job finished ? 

	a)
5 day

b)
15 days 

c)
20 days 

d)
None of these 



	Q 29: 4 boys and 2 girls can do a piece of work in 14 days. While 8 girls and 2 boys can do the same in 8 days. If a boy gets Rs. 81 per day, what should the wages of a girl per day be ? 

	a)
Rs. 7

b)
Rs. 4

c)
Rs. 6

d)
Rs. 90 



	Q 30: A train moving in one direction passes a man standing on a platform in four seconds. Another train of same length moving in the opposite direction passes the man in five seconds, then the time taken by the two trains to cross each other is 

	a)
[image: image23.png]100



seconds 

b)
[image: image24.png]


seconds 

c)
[image: image25.png]


seconds 

d)
[image: image26.png]


seconds 



	Q 31: Let N (>1) be a composite integer such that [image: image27.bmp] is not an integer. Consider the following statements.
A: n has a perfect integer valued divisor which is greater than 1 and less than [image: image28.bmp].
B: n has a perfect integer valued divisor which is greater than [image: image29.bmp]but less than n.
Then 

	a)
both A and B are false

b)
A is true but B is false

c)
A is false but B is true

d)
both A and B are true



	Q 32: [image: image30.bmp] and x = |a| b then which one of the following is necessarily true? 

	a)
a-xb<0

b)
a-xb  [image: image31.bmp]0

c)
a-xb>0

d)
a-xb[image: image32.bmp]


	Q 33: In the figure given below, AB is the chord of a circle with centre O. AB is extended to C such that BC = OB. The straight line CO is produced to meet the circle at D. If ∠ACD = yo and ∠AOD = xo such that x = ky, then the value of k is _____.
  [image: image33.png]




	a)
3

b)
2

c)
1

d)
None of these



	Q 34: Each family in a locality has at most two adults, and no family has fewer than 3 children. Considering all the families together, there are more adults than boys, more boys than girls, and more girls than families. Then the minimum possible number of families in the locality is _____ 

	a)
4

b)
5

c)
2

d)
3



	Q 35: Answer the questions on the basis of the information given below.
[image: image34.png]fy(x)=x



             [image: image35.png]



     = 1                 [image: image36.bmp]
     = 0             otherwise
  [image: image37.png]folx)=fy(-x)



     for all x
  [image: image38.png]


    for all x
  [image: image39.png]falx)=f5(-x)



    for all x 
How many of the following products are necessarily zero for every x:
[image: image40.png]FIENACIRAEIIA IR AN AEII





	a)
0

b)
1

c)
2

d)
3



	Q 36: Answer the questions on the basis of the information given below.
[image: image41.png]fy(x)=x



             [image: image42.png]



     = 1                 [image: image43.bmp]
     = 0             otherwise
  [image: image44.png]folx)=fy(-x)



     for all x
  [image: image45.png]


    for all x
  [image: image46.png]falx)=f5(-x)



    for all x 
Which of the following is necessarily true? 

	a)
[image: image47.png]fqlx) =f;(x)forallx




b)
[image: image48.png]fy(x)

fal-x)



 for all x 

c)
[image: image49.png]fol=x)=f (=) forallx




d)
[image: image50.png]fy(x) +f5(x)



 = 0 for all x 



	Q 37: If x = −0.5, then which of the following has the smallest value ?  

	a)
21/x 

b)
1/x 

c)
1/x2 

d)
2x 

e)
[image: image51.png]1%






	Q 38: Which among 21/2, 31/3, 41/4 , 61/6 and 121/12 is the largest ? 

	a)
21/2

b)
31/3

c)
41/4

d)
61/6

e)
121/12



	Q 39: The sum of four consecutive two digit odd numbers, when divided by 10, becomes a perfect square. Which of the following can possibly be one of these four numbers ? 

	a)
21

b)
25

c)
41

d)
67

e)
73



	Q 40: The number of common terms in the two sequences 17, 21, 25, … , 417 and 16, 21, 26, … , 466 is 

	a)
78

b)
19

c)
20

d)
77

e)
22
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